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1. (8%)
(1) 2005 S35 % : $800,000 % x_;- = $80,000 (3%)
(2)
Cash 600,000
Accumulated Depreciation 224,000
Gain on Disposal of Machinery 24,000
Machinery 800,000 (5%)
2. (6%)
(1 sn
nE 1,007,500
B4t 8 7,500
AL 2 8) 1k 1,000,000 (3%)
(2) 10/1
#etm 37,500
HEAT A 8 7,500
e 45,000 (3%)
3. (6%)
A T
An 15 $ 40,000 $ 80,000
ift f§ 695,000 1,540,000
i R (12,000) (20,000)
i I de (8,000) & A F=$720,000/$1,600,000 = 45%
it 175 4 5,000 (2%)
$720,000 $1,600,000
i (1,475,000)
& 1 iR w) LR 25,000 5% 7F % ¢ $150,000%45% =$67.500
W KA | £ 150,000 (4%)
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